
MEB/S WALL MOUNTING BRACKETS
Suits all industrial enclosure products.

National Sales   T: 1300 Enclosures (1300 362 567)   F: 1300 796 599
sales@brenclosures.com.au | brenclosures.com.au

IP, TE & DATA RANGE NI RANGE

Description Qty
  Enclosure Body –
  Bracket 4
 M8 x 16 St/Stl Hex Head Set Screw 4
 M8 St/Stl Flat Washer 4
 M8 External Star Washer 4
 M8 St/Stl Hex Nut 4
 O-Ring 4

Description Qty
  Enclosure Body –
  Bracket 4
 M8 x 16 St/Stl Hex Head Set Screw 4
 M8 St/Stl Flat Washer 4
 M8 External Star Washer 4
 M8 St/Stl Hex Nut 4
 O-Ring 4


